R6 fifEilEH  No.26
EE5THAR 1 24/6/27~24/7/3
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iR REEES X#=AR EE - faiE KimE(kg) (F/ka(BiiA)) mE

ING R R R PESEUEHE 6/27 2[5/ \E 1,208 70

TAALY 262 698

At = | 111 194

F7>aD 42 32

A=A DA 36 22

BEER S U 6/27,28,7/1,3 12[tTE 57 6,401

ES A (8) 53 1,166

ESX(GE) 21 1,635

W o F hPEEVEHE 6/27,28 4 TAATY 1,581 660

F7>0D 386 86

AXAHBYT 163 337

T 66 145

¥4 61 369

L3HLA 55 188

HhFHS 41 80

FROARD 31 900

INERUER 6/27,28 9|7AXTY 1,828 626

T 579 152

7> 240 76

ZILAAH 152 265

HhFHS 147 114

)48 136 42

AEa==i | 134 331

AXAHBYT 102 423

ESA(E) 78 1,084

ESXA(GE) 3 2,079

L3HLA 74 247

YFELSHLA 68 571

TgoYFAhH 63 821

THLY 60 4,272

< hOSA 50 261

RS A 40 34

TROIRD 39 824

7FT 35 1,740

BEER S U 6/27,28,7/1,3 85|ES X (&) 1,051 1,080

ES XA (8) 54 1,021

Y= 573 1,534

(It 116 4,325

RIRD 51 1,291

<A 45 1,164

<IF 42 2,612

JEDHAN 32 58

BRUER 6/27,28,7/1,3 31[25X 13,053 693

BIT=48 6/27,28,7/1,3 7Ry FH 1,523 743

#]0 6/27,28,7/1,3 78| AXF 1,113 2,004

ESXAGE) 246 1,341

ES X (8%) 59 697

<IF 77 2,914

ED 7/1,3 27+ 32 -

SAENS 6/27,28 8|<4 1 159 1,029
BHE 5= 6/27,28,7/1 116|D =Bkt 259 4,188 |ESAT : {E

FOEH 85 17,688
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SEETHAR : 24/6/27~24/7/3
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H OB R BEER U 6/27,7/1,3 150/ ES XA (GE) 3,473 887
£S5 A (8F) 640 751

BHFIA 897 3,270

)48 845 138

ITS 737 570

HY= 254 1,157

RIARD 210 617

Nkt 200 815

005 191 436

>Ox)0L 157 1,563

< hOSA 146 210

JU 137 247

F7>aD 135 74

HI5 110 1,618

JEHAN 102 82

ESWXHZ 84 594

FEHA 80 296

ZAXF 70 1,603

JUH LA 63 521

IALA 45 2,484

<41 37 1,209

1AL+ 36 1,166

AAZFHLA 35 1,244

HhFHS 35 49

MU= 6/27,7/2,3 156[=5 X 104,668 372
BFEIERE 7/1,3 4~7+3d 13 2,048
Ui 7/3 /5= 34 845
JuU 30 214

Bl 6/27,7/3 18|/ R FH -1 4,431 482
#80 6/27,7/3 20(ESA(E) 418 1,059
ESA(f¥) 18 737

FHEH 6/27,7/3 6|~ 175 2,087
SREMNS 6/27 1|43 27 -
RE R 7/3 Hbwl=] 11 15,310
W HER(7HY) 7/1 37|75V 1,200 648
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